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Q1) Attempt any two parts of the following. [2 × 5 = 10]

a) Differentiate between the thermal, hydro and nuclear power plant.

b) Write about the problem of ash disposal in thermal power plant.

c) Explain the factors for selection of economizer and dust collector in thermal power plant.

Q2) Attempt any two parts of the following. [2 × 5 = 10]

a) Explain the automatic and remote control of hydro plant.

b) Explain the cooling methods of alternator.

c) Describe the nuclear reactors and coolants used in nuclear power plant.

Q3) Attempt any two parts of the following. [2 × 5 = 10]

a) Draw and explain the diesel power plant layout.

b) Explain, how the output and performance of gas turbine plant is improved.

c) Write the advantages of combined working of different types of power plant.

Q4) Attempt any two parts of the following. [2 × 5 = 10]

a) Define the term :

i) Fixed and running cost

ii) Demand factor

iii) Power factor

b) Compare the regional grid and national grid.

c) Write about the grid failure and its remedies.

Q5) Attempt any two parts of the following. [2 × 5 = 10]

a) Explain the comparison between solar energy and wind energy.

b) Explain the concept of Biodiesel energy.

c) Compare the Nuclear power plant and hydro electric projects on the basis of cost.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| H$mo hb H$s{OE&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) W‘©b, hmBS´>mo Am¡a na‘mUw D$Om© g§¶§Ì Ho$ ~rM A§Va X|&

~) Vmn {dÚwV g§¶§Ì ‘| amI Ho$ {ZñVmaZ H$s g‘ñ¶m Ho$ ~mao ‘| {b{IE&

g) W‘©b nmda ßbm§Q> ‘| BH$moZm°‘mBOa Am¡a S>ñQ> H$bo³Q>a Ho$ M¶Z Ho$ H$maH$m| H$s ì¶m»¶m H$a|&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) S>mBS´>mo ßbm§Q> Ho$ ñdMm{bV Am¡a [a‘moQ> H§$Q´>mob H$s ì¶m»¶m H$a|&

~) AëQ>aZoQ>a H$s erVbZ {d{Y¶m| H$s ì¶m»¶m H$s{OE&

g) na‘mUw D$Om© g§¶§Ì ‘| Cn¶moJ {H$E OmZo dmbo na‘mUw [aE³Q>am| Am¡a erVbH$ H$m dU©Z H$a|&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) S>rOb nmda ßbm§Q> H$m Z³em ~ZmBE Am¡a g‘PmBE&

~) J¡g Q>~m©BZ g§¶§Ì Ho$ CËnmXZ Am¡a àXe©Z ‘| gwYma H¡$go H$aVo h¢, g‘PmBE&

g) {d{^Þ àH$ma Ho$ {dÚwV g§¶§Ìm| H$s g§¶w³V H$m¶©àUmbr Ho$ bm^ {b{IE&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) n[a^m{fV H$a|o&

i) {ZpíMV Am¡a Mmby bmJV

ii) ‘m±J H$maH$

iii) ep³V H$maH$

~) joÌr¶ {J«S> Am¡a amï´>r¶ {J«S> H$s VwbZm H$a|&

g) {J«S> H$s {d’$bVm Am¡a CgHo$ Cnm¶m| Ho$ ~mao ‘| {b{IE&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) gm¡a D$Om© Am¡a ndZ D$Om© Ho$ ~rM VwbZm H$s ì¶m»¶m H$a|&

~) ~m¶moS>rOb D$Om© H$s AdYmaUm H$mo g‘PmB¶o&

g) bmJV Ho$ AmYma na Zm{^H$s¶ D$Om© g§¶§Ì VWm Ob{dÚwV n[a¶moOZm H$s VwbZm H$s{OE&
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